CHEMISTRY

31. 541 reaction ks favored by
a) non polar sohaents
b) more number of alkyl group on the carbon abom attached bo the halogen atom
c) small groups on the carbon attached to the halogen atom
d) no groups on the carbon attached to the halogen atom
32, Phenol is less acidic than
&) ethanal b) o-nitrophenal
c) a-methylphanaol d) o-methoxyphenol

33. Chioro ethane reacts with compound Z to form diethyl ether. Identify Z?
a) NaOH b)) H:50,
c} C;H;ONa d) Nay5:0y

34. Which of the following resgents may be used to distinguish bebween phenol and benzokc
acid?
&) Tollens' reagent b) Molisch reagent
c) Neutral FeCh d} Aqueous NaOH

35, In the following sequence of reactions, the alkens affords the compaund “B°.

Oy

CHyCHECHCH, A :f' B

The compaund B is

a) CHyCHO b} CHyCOCH,

€] EHyEH,CHO d} CH,CH,COCH,
36. How many chiral carbons are there in B3-D-{+)-glucose?

a) five ) six

c} thiee d) four

37. Why are certain rubbers called as “vulcanized rubber’?
a) They are formed under volcanic anuption
b} They are prepared by adding 5% of sulphur as cress-linking agent
c) They do not use any Co-Monomer
d} By the sddition of excessive co-maonosmer
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38.0ne of the commen components of phatachemical smog is
a) formaldehyde b) acetaldehyde
) methane d) €0y

39. Sodium dodecylbenzenesulphonate refers to

a) anlonic detergent b} soap

) cationic detergent d} nondonic detergent
40. Which one of the fellowing acts as antihistaming?

&) Equanil b} Marphine

) Serotoning d} Bromophenylamine
d1. The actual atomic welght of an element is represented in

&) number b) "u®

c) “amu” d) "mu”

42.The weight of nascent oxygen in milligrams obtained from 6.32 g of potassium
permanganate (Molecular weight 158) in acid medium is

a) 16 b} 0.016
€} 0.16 d) 1.6
43, The value of Plank's constant in units of Js is
8) 6626 x 107" b} 6.626 x 10
€) 5.626 % 10" d) 1.28 x 10
44, The mass of proton having a wavelength of 4.24% is
a)4.78 x 10 kg b)4.78x 10 g
c} 717 % 10 kg dy239x 10" g
45, The measurement of a thermodynamic property known as temperature is based on
a) zeroth law of thermodynamics b first law of thermodynamics
¢} second law of thermodynamics d) kirchoffs equation

46, The bond dissociation enthalples of Hj{g), Clx{g) and HCI{g) are 435, 243 and 431
Klimiol respectively. The enthalpy of formation of HCI{g) in kl/mal will be
a) 121 B) -12§1
€} -121 d) <242

47, Defective coating of zinc over mild steel leads to
&) enhanced corrosion of mild steel
b} increase of corrosion potertial
) corrosion of zine coating
d) ydrogen evolution over mild stes|



48. What will happen to the rate constant of a reaction when the temperature |5 raised by
o= cy

a) Incraass by 10 times b} Is halwed
) Is doubled d} Mot affected

49. The equivalent conductances at infinite dilution ['J. 23} of ammonium chioride, sodium
hydroxide and sodium chioride are 120, 240 and 150 mhocm'eq®, The ADO of
ammanium hydroxide in mhocmeq™ Is

a) 270 b} 210
c} 30 d) 510

50,100 em” of an agueous solution of protein contains 0.63 g of protein. If the osmaotic
pressure of the solution at 300K 15 2.57 x 10 bar, the molar mass of the protein will be

a) 6009 ) 61039
¢} 62039 d) 63039

51. A compound formed by elements P and ) crystallizes in cubic structure in which atoms
of P are at corners and atoms of Q are at the face center. The formula of the compound
[

&) ABy b)) AB
c) A8 o) A8
52.5yn gas is a mixture of
a) carbon dioxide and hydrogen b) carbon monoxide and hydrogen
c) methane and hydrogen d) methane and carbon monoxdde
53. Which one of the following alkali metal hydrides is thermally stable?
a) Lithium hydride b) Sedium hydride
c) Potassium hydride d) Rubidiusm hydride
54. The correct order of acidic chasacter of the following is
a) 503 = 00y = CO =M0y b) S0z = N3Oy > CO > COy
€} NyO5 > S0; > €O > 00z d) N0y = 50y > €0y > €O
55. Bell metal is an alloy of
&) copper and tin b} sihver and copper
c} copper and nickel ) copper, zinc and tin

56. Ammonium dichromate ks used in fireworks, The green coloured powder blown in the air
s

a) Crdy b} Crzly
€} cr d) Cro (04)
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&7, Which one of the follawing complaxing agents is used for the estimation of hardness of

water?

a) Cyanide b} Pyrophesphate

c) EDTA d) Ethylens diamine
SH, How many & and 7 bonds are prasent in nitromethane

a) 6 Tand 1T b} 5 Fand 2T

€} 6 Fand 2T d} 5 @Fand 1T

54, Retardation factor is cabculated as

a) ratio between ‘distance travalled by the substance fram the base line and distance
mowved by the solvent from the base lina”

b) ratio between "distance travelled by the sobent from the base line and distance
moved by the substance from the base line”

¢} sum of “distance travelled by the substance from the base line and distance moved
by the solvent from the base line’

d) difference of ‘distance travelled by the substance from the base ling and distance
moved by the solvent from the base line’

&0, In which ane of the foltowing, Mn exhibits [ts highest oxidation state?

a) Mnd; by MnO&
) MnOF d} MnD
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